
Y3 – Autumn – Block 2 – Step 2 – Add and subtract 3-digit and 1-digit numbers – not crossing 10 Answers

Question Answer

1 237

2
a) 325 – 3 
b) 322

3

a) 475 + 1 = 476
475 + 2 = 477
475 + 3 = 478
475 + 4 = 479

b) 475 – 1 = 474
475 – 2 = 473
475 – 3 = 472
475 – 4 = 471
475 – 5 = 470

4
a) 657
b) Tom has subtracted 2 tens instead of 2 ones.

5

a) 279
b) 272
c) 310
d) 316
e) 408
f) 274
g) 628
h) 481
i) 4
j) 1
k) 5
l) 2

6 529

7

396 + 1 or 391 + 6
139 – 6 
391 + 6 or 396 + 1
169 – 3

8

a) 784 + 4 = 788
b) 970 + 3 = 973
c) 178 – 5 = 173

9
764 + 3 = 767, 767 + 2 = 769
3 + 2 = 5, 764 + 5 = 769

10
even
Scott’s number must have ended with a zero and all numbers ending in zero are even.


